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010 [dentify the adverb.
She read the answer twice.
) twice (2) answer (Bh e read (4) she ”

Choose the option that is opposite of “brave’.

(1) coward () clever (3) courageous  +4) shameful

011

Choose the word nearest in meaning to the underlined word.

012
She requested him to drop her home. _
(1) ordered “2) ask politely  (3) instructed (4) forced
013 Choose the correct verb.
The baby was _________ in the room. i :
(1) sleep «2) sleeping - (3) will sleep (4) will be sleeping
014 Choose the correct option to complete the idiom given below.
You have hit the nail on the _ iy S5
(1) head 2) leg (3) arm +4) finger
-Choose the correct spelling. _
(1) Sincerity (2) Sencerity {3¥ Sincerrity (4) Sinceerity

016 Choose the correct pronoun.
is standing at the gate ?

B Who (2) Whom (3)  Which (4) Whose
017 Fill in the blank with the appropriate article.

They are going to Metro station.

) a (2) the (3) an (4) no article
018 Identify the adjective from the given options.

(1) saw (2) 1o £3) honest (4) his

019 Choose the correct preposition to complete the following sentence.

The restaurant 1s the school.

(1) up ~2) behind (3) along (4) between

020 Complete the following sentence by choosing the correct option :
They left __ shoes on the floor as ________ was no space on the shoe rack.
(1) they're, their  (2) their, there (&) there, their (4) their, they're
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nd

have o paste a stamp

: Stamps, People who wanted
; 'tand stjck 1t with ;
Land the o

I. .I‘I]C ﬁrs

a pic P Was printed i England. 1t black
a picture . gland. It was
Paise) ']‘h-:[ :\ l\l:h?flt()‘li;t;n Vlllctorla On it. It cost gne penny (the British
e “alled the ‘Penny Black
he hobby of

: Mps is known ag Philately. Stamps have
IN many shapeg "

and sizes. § ' valuable

and can sel] for a lot of Money;, SO SIS are very val

021 Choose the correct option to fill in the blank.
3 The first Stamp was printed i :

(1) India «2) England (3) America (4) Australia

022 Choose the correct statement.
- (1) The first stamp had a picture of a lion.
)
r

£2)~ The first stamp had a picture of Queen Victoria.

(3) The first stamp had a picture of Queen Elizabeth.
(4) The first stamp had a picture of a goat.

023 Choose the correct option.
The hobby of collecting stamps is called
1) Gardening (2) Fashion Designing
( a g

) Goolins (4] Philately

024 ‘It was black and had a picture of Queen Victoria’.

Identify the part of speech for “black™ from the given sentence.

: 2) Pronoun (3) Adjective (4) Verb
,,(1/) Noun (

25 Choose the opposite of ‘send’.
0 L{/f) eceive (2) cost (3) brought @l
r
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qucstions given below : (Q. 021 to Q. 0;
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031
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e b _\"‘l!‘-(,.‘.‘ Q\ * i
: ‘:ﬁ ON ‘B 2 =
(@@ fhe notiid bolu t : MATHEMATICS - 105
= Behy VY lemperature of T
S i >y : 1:;;;' a human being is A o 4
ez 79F Ll . Convert it to degree Fabr :nheit
gfhﬂ < *

(3) 95°F (4) 98.5°F

2 he dittere

02 .H“ difference between — 50°C :

o fae i ‘4’0( and 72°C is
2 Pat B

() +32°C 20C
5 y 4 B B
(]28 I.'\PI.CSS I8 l‘g Sfl as ]\U -00.5* i3 (4) 2
(1) 185 kg S TRt B o
) kg (3) 18.05 k3905 4y 18.005 ke

029 Find the number of
of zeros on 1 k
e : im whe e ca
o D ) n you convert a kil -1 llimeter
2 € a kilometer into ™1 :
E ST 4) 8

030 Which of the fi ing i
e following is the correct representation for ber 997
sente number 99

kg L@ 2 )
(2) XCVIII “3) XCEX (4) LA XXXXIX qu6
4465, > cﬂo‘l'%’feébj,s
JoM2 ‘P‘”{wq-z /_/j‘

031 Find the value of : MXLII + CXCIV — LXIII
(4) MCXLITV 1

(1) MCLXXIII (2) MCCCCXXIX £33 MCCLXXII

032 Name the siaCian | il :

71;1‘L the type ot an angle w hose measure is 29° more than the difference of 136° and

i | . ; 11
arante o 5] S fia - ;

JJ'] acute angle (2) obtuse angle (3) right angle 4) reflex anglez’q

033 Which of the angles In the given figure is larger than two (2) right angles ?

(2) Both /a and £d

(1) Only £a
+(3) Only £c¢

(A La2b and £ d only

and choose the right option.

034 Read the given statements
circle are ‘diameters.

Statement A All chords of a
- Diameter is the
rue.

longest chord of the circle.
) Only statement B is true.
(4) Both statements are false.

Statement B
(1) Only statement A s

(3) Both statements are true.

(S35
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to a Constrye; i :
on site, If 4,
the amoypy of sanq £4.65 kg s

g
that -
O sy reacgi Shse;f'gte' '

035 A bullock cart is carry
away on the way to th
(1) 226.65 kg

ing 230 kg of sanq
€ site, then find
() 234.65 kg

036 If the speed of the car ig reduced from,
cover the same distance will ;
/ (1) Remain same
9%~  3) Double
i

100 km/hy to 50 Km/hr, then

@) Will pe redu
4) Wil be incr

the time taken g

ced by 50 Minutes
Cased by 50 Mminutes

With a speeq of 98 km/p
B3] 19 hours

i’jfg 037 A train covers a distance of 1862 km
$9¢2 by the train to cover thig

@ (1) 17 hours (2)

Hq— G
% 038 Find the sum of 4-dj

distance.

r. Compute the time taken
23 hours

21t greatest Number and ¢.4; t
. el 81t smallest numper cach having 3
1;;35% B 109999 - (2) 109989

(3) 110020 (4) 1000989
039 Subtract 28,576 from the sum of

the digits 3, 0, 5. 8 and |,

4 67.092

the least angd the
8¢ 3.

51
(2) 84,653 fo3s

greatest 5-digit ny
(7}
3) 68932 ()

mber formed using

73,695

956,040 The complement of one-fourth of

a straight angle wil] pe -
__2 85¥; I Acute angle  (B) Right angle
’;‘W (C) Obtuse angle (D)

Half of a right angle
(2) Only (C)
4T Both (A) and (D)

(1) Only (B)
(3) Both (A) and (B)

041 An angle js three times of the half of a right angle. Find. its supplement.

f (BSOS (25 135 (3) 145° L4 45° 26
‘fs"’ - 35

042 While arranging the given fractions from the le

ast to the greatest, which fraction will be
V(= at second last place ?

Bl 5 o s J025.1
S o s Zo :
5 17 3

Arrange the following fractions in ascending order :

i o n
T
90 2 5
et g2 s o0 ol S
0§22 0 DA el e () S
1z Contd...
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and SIlpped :

044 Thé t'ablf

Iter
 Sug
Ric
Fien

h
o

What is
pedll

045 What lez

(@)l

@y sellin

a profit

20 T
o (1)

{,ﬁ’l Seema a

year, the

the sam

oy 3
048 Which

(1 (@
3) 93

049 9 + [6
()2

050 The me
CL) 55

051 'Givpn
scored

7 Mat

Uy 1

052 What

b 1
= (1)
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045 What least number should be added to e
()

r ltem l Price per ng
Sugar l 4 ) /2‘%?’ &__:a-ﬁ-.(g : i
Rice | <108 % i <

What is the ratio of combined price of Sugar and Rice to that
& a

)

/‘?; =

Coflee

i of Coffee and Wheat ?
B) 4 S @) 3:5

) 9:14 (2)" 2.3

13 to get the ratio2:37

@) St FHE s
2=

ach term of the ratio 7 :

1 (2): 3 ) 5

ould he sell so as 1o make

3 By selling a W atch for T 1,275 Javed lost 15%. At what price sh
.2 a proft of 10% ? e D A
s () X000 (2) 21600 81050 @) T 1,700 Bl o
11047 Seema and Ravi invested Z 1.50.000 in a business in the ratio of 2 3. At the end of the
year. they n\a}du a profit of 150% on the invested sum. If they share the profit money in
the same E‘ntm. then what will be Seema's share ?
- T 1.50.000 (2) T 20,000 (N 1.35.,000 @ X 90,000
-1
048 Which of the given statement is true ? g% Caie %’
(D (21-15\-6:217(15_6) 2) l4x36‘6f10—~84
G) 9 63 37 = 9300 A 25 49 + I X 5 6 =54
2 : =z Lo &
049 9 +[6 +7 of 3 — ©O+2-6* T g ey
(25 et 2 26 3 (3) 27 ~4) 28
12 -2=19F 9 - € s
050 The mean for 13, 14, 19; a, 17 is 22. Find the yalue of a.
("8 2) 47 i A o1 4) 67
051 Given below are the runs scored h\ a batsman in 4 matches. Calculate the average runs
scored by the batsmarn.
242
EZak
@y 139 (2) 140 (3) 46.66 Ay 3475
052 What percent of 4 days is 6 hours ?
1 1
© (D) 5—140-‘0 (2 3—% 3) 6—% (4) 41‘.0/0
B 4 4 4
24
[ Contd...
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Match List - I with List - 1.

053 List - T Lise 1
(A) longest chord ) i
(il betw‘een o radi%ﬂ) diamete
(6 e ciiclc " (IDsector
(D) half of diameter—

§ (V) Semi-circje
Choose the corrg;t elmszver from the Options given below - ;
(1)_ (A)-(V). B)-(D). (C)-(rn), DI oy ey, B).
(A-D, (B, (©)-av), d)-ay, ) (A)~§I), )(B()-()IS,) ’(E:C)-)El(i?f‘(é??{f%)
054 Three cubes whose each ed

ge
volume of the new cuboid

is 4 cm are Joined ¢

oget . .

formed. gether to form 4 cuboid, Fipg the

)~ 64 cm? (2) 0.064 cm3 e @ 12 o

055 The perimeter of one face of a cuboid f54() cm. If the length 4 L
: 2 . nd :

- 1s 13 cm and 8 cm, then find the volume of the cuboid., - o e

) 846 cm3 (2) 625 cm3

7

(3) 728 cm?3 (4) 746 cm3
056 Which of the following are fo consecutive composite numbers ?
()20 03 01 o5 (2) 60,61, 62. 65 —3) 56

, 97, 58,59 (4 90. 91, 92, 93
057 A pair of twin

prime number between 70 and 100 is
= an T e (2) 79, 83 (3) 97, 99

(4) 87 %9
058 Name the triar

1gle shown below based ‘on both sides and angles,

(1) isosceles and acute triangle ~2) scalene and right triangle

(3) obtuse and right triangle (4) equilateral and obtuse triangle

059 Given below are two st
as Reason R.
Assertion A : Right

Reason R : AJj the

atements : One is-Jabelled as Assertion A and the other is labelled
angled triangle is not a regular polygon.

sides and angles of a regular polygon are equal.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is NOT the correct explanation of A_
(3) A is true but R is false.

4) A is false but R js true.

060 Find the value of 54 = 0.009.

(1) 0.006 @) 6.0 i “3) 6000 4) 486
60 0C
A,
EN/AREET/6/23 J | 8 [ Contd
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061 /\ batsman scored 190 ru i
his total score did he m
A1) 50% (2) 60%

062 Riya is doing

SJ61]

P 416 sq. cm 88 cm :(/‘f’/q (2) 316 sg. m 80 cm

063 Find the area of the unshaded region inhe given figure.

064

066

067

EN/AR]{I’;‘T;"(),-’Q37(J ]

undaries and 6 sixes. What percent of .
the wickets
(3) 70%

ake by running between
4) 75%

a paper cutting activity.

She cuts out four ident
i : I identic ers of the
rectangular sheet entical square corn

as given in the figure.~Find the area and perimeter of the remaining

sheet.
< 24 cm — e
‘ dcm 4 L
& '[ RPo—6T
4cm 4 cm :
20 cm o v -4 é

\4 cm 4¢cm 46

4 cm 4 cm l ii

(3) 480 sq. m. 88 cm 6 ~.(4) 480 sq. m 80 cm

<—2cm—>*
i P,
M5 em

2.5cm

0.5 cm‘r 4.0 cm

55| | em l

<2cm->

7.2cm 9

@) 675 cm? 2y 28.8 cm?

(3) 24.55 cm? (4) 22.05 cm

m. How

A farmer borrowed a sum of 3 1(_\.0()(_) from - Jooeevss 3
e e bask I 3%, 500 @) T 11,500 ool oo
(1) ¥ 30,000 [ 2 e

a bank at 5% rate of interest per annu

o of 8% per annum. Find the
Riiul took T 50.000 from a person for 3 'years at the rate of 8% per

; by Rijul t pe afl ars. :
amount paid by Rijul to that person after 3 years . < s00

(1) T 52,000 (> T62,000 @) T 5200

t of two thirds of a right angle.

. s ~ment of complemen : i
F;nd l]r};eosl']pplbmtn (“3)L 150° el B 4) 60 jg‘oﬂﬁ
(1) = o é&’ ‘o
. . measure of x 1§ : :
In the figure given. the measure ol X % A =
2 an
g@’
0
- | o
¢ i 30 TS (4) 36
24° = i
g ](;nmd...
9



IWoosg
1N 13

60000
“f\\ 3 oduct of Plge 1 ’}ll.-— 00
.Q@f I'he PIN-- ‘:: - -ltlF-\-’-'lhlt‘ and Faee Value of it 6 | /
— (1) 3652800000 (2) 360000000 ‘@) 3 Nimbygp 7860443,
0626 80) G |
_ e (4) 60000099 > ¢
069 Find the smallest fiye digit number Using
: "8 threg differ s
(1) 10000 (2) 20000 erent digjy :
() 000y, 076 Wh
% “ 10007 (1)
070 If a number is divisible by 8 and 3 both, 00¢ —5)
divisible. 1 bY Which ogher . o
lumberg will 1t .'wa.“% be Kol
(1) 8 and all its factors i . 077
(3) factors of 24 (<) '.-"L'Iurx of 3 (1)
} 'iIUIHI‘N of '3
078 Che
071 The product of two Numbers With LCM of 112 is 4037 = B oof o
Wl s 7 T9e The HCF of hgies Numbers It b
3 D21 (N
(l) | (2) |2 (}) 9 OO “4" ; :
- (" &0 - -( 5
3 xfﬁﬁ'ﬁ* J 36 (3)
F < 6 5 ; } " si-./ B
.g__ﬂ_é_,'_zz The cost of a dozen -]'ICH(lpht_mcx 1S X 78,564, Samar wantg to buy five headphones, Find 079 In
- the amount to be paid by him to get five headphones. ‘ ) (1)
- ; ; (= g ]
() X20.675 —2) $30i7s ‘,éf/ffZ/(-‘) < 32,375 4) T 43.675
e 272732 I et 080 Ch
4073 Trisha is arranging fruit juices for 40 classmates. She wants to serve 250 ml of juice to e
cach of the classmate. What is the minimum number of tetrapacks she requires for serving (r
if each tetrapack contains 2.5/ of juice ? r
; / C
@) o5 @) 3 4 4 4) 10 081
: : s (1
074 Compute the reciprocal of expression given below :
3¢ gsHy n 082 AI
—_— X —
15 19 §
= 1 . :
17 4 _LS_ (3) < “U4)  does not exist 083/ ¢
(1) == ©) 75 )
38 S
C
L g of fruits. She used 2= kg of fruits in pudding and kept the res ‘
075 Radhika bought 8- kg o o A :
J is the quantity of fruit left for fruit salad ¢ ;
‘ for fruit salad. What is the q | : |
: 4) S= kg

10 [ Contds = EN/A
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- 076 Who appoints the P

077 Kolkata is located on the banks of

1

SJ6

SECT Zen
ION - *C : GENERAL KNOWLEDGE

(1) The Presid rime Minister of India ?

; esident of Indi: _

—3) The Chief Justice ::\hll : (2) Chief Election Commissioner
oo, (4) The Chief of Defence Staft

(1) Ganges 2 :
g (2) Damodar 43) Hooghly (4) Padma
Choose the correct option.

This palace, loc: in Gwali

s palace, located in ralior was bus . : :

patme R Gwalior was built by the Maharaja of Gwalior Jayajirao Scindia,
an and Tuscan style of architecture and is not a museum.

1) Hawa Mahal Palace .
:}) : "1}\\-\ | 1l\hhal Palace ~2) Umaid Bhawan Palace
: _.ake Palace (4) Jai Vilas Palace

Ly ]

In Ramayana. where did Lord Shri Ram marry Sita *
1 Av re 2 & . o it
(1) Ayodhya (2) Panchvati 3) Chitrakoot (4) Janakpur

Choose the correct option.

Food is stored in the roots of
(1) Potato {2¥ Sweet Potato (3) Onion (4) Ginger
Choose the correct option.

is the fastest healing body part.
(2) Liver (3) Large Intestine (@) Skin

(1) Tongue

anks of the river :

Ayodhya is located on the b
—£3) Godavari (4) Yamuna

(1) Ganges (2) Saryu

Choose the correct option.

Sanjana found that as a seed
of the seed leaves gradually become

oerminates and seedling turns into a young plant, the size

s smaller.

It is because :
(1) The seed leaves are absorbed back mnto the seed coat.
(2) dhe sunlight withers the seed leaves.

(3) The food in the see been used by the growing plant.

(4) None of these

d leaves has

11 [ Contd...
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(r[=]

ilian

L,

=
o
W

(1) Elephant (2) Li
ion

(3) Panda
) liger

094 The if&‘f-l\‘lcn(\ ol whi ] * :
A ch of the following vitamins causes Rickets

(1) Vits < s i
amin - A (3 Vitamin - D (3) Vitamin - C 4

095 Who wy * fir X .
( 15 the first Goy emor General of Independent India ?
(1) Rajagopalachar;
S0F rl (2) Mahatma Gandhi

(3) Lord M atte ]
( Tount Batten —47  Jawaharlal Nehru

096 Identify the Indian Nuclear Physicist. who w
P . ' > 3t 1 I
Physics at the Tata [nstitute of Fundamental Research.

(1) Homi J. Bhabha (2) Ramanujan

(3) Vikram Sarabhai _(4) Aryabhata

097 When was Bangladesh formed ?

H In 1971 (2) Im 1905 (3) In 1970

098 Choose the correct option.

I'he United Nations (UN) was founded in

(H 1944 (2001945 (3) 1946

099 Identify from the following, the disease related to brain.
(1) Meningitis (2) Migraine (3) Jaundice

100 Choose the correct option.

¢ as it is rich in
Cow dung can be used as manure as 1L 1S TIC
: ‘ : 3 Aercury
©| (1) Nitrogen (2) Sugar 3 M s
[ u

SJB
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Which anj
animal was renrsas :
represented on the mascot of the Delhi Asian Games 1982 7

Vitamin - B]:

(4) In

(4)

(4)

(4)

1947

1947

Diabetes

Calcium

as the founding Director and Professor of

[ Contd...







110 Figures A and B
between figure C
question mark .

are related in 4 Particular manner. Establish the same relationship

and D by choosing g figure from the alternations, which replaces the

£ (B) (C) D)

(D ©)) m 3 o ®

111 Complete the pattern :

(1) 2) 3) @

“ l[ f YWINg ‘Il' S a ar > o1ven I]Ou[“ -
b 15 p 0 thL- !:'1 C 2
he fL‘Il( g5 dpt“-

2) —4 @3) % 4)
W /_L 2

stion mark ?
Which number replaces the question
113 Whi

4) 6
o (3) 4 4
@ 8
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118

119

121

122

124

125

Pind the i

oo ‘u Missing lerm, 'ﬁ/ﬁi 2§$ 3L p

l i _.xRR_ 376 364 o :/ij/ ‘/j/i/

(L) 350 . nm e -
(2) 357 {

I” (3) 354 4

‘ind the missing term | e

3y s 38,74 7 -

(1) 153 Er

: 2) 160 ‘

. @) ~@) 151

Fill in the blank,

ADDG EHHI [LLO. MPPS

(1) PRRT G
(2) QUUX “«3) QITW @) B

Select the correct figure

M| (|
»|®|%
Bl ?

@ & @ & G &

which will complete the given

Complete the following analogy :
Book : Author :: Dish :
(1) Musician (2¥ Chef (3) Painter

Complete the following analogy :

Flood : Drought :: Genius :
42) Intelligence (3) Brain

(1) Think
[dentify the relationship in the first pair
ADE : FGJ :: KNO : _?

(1) POR /(%) PQT (3) R@P

f&r(

Complete the following analogy :
Throat :: Asthama ! ———

[Pungs: 37 Head

Cough :
(1) Kidney (2)

1.7

EN/AREET/6/23_J ]

grid -

@ P

(4) Artist

(4) Foolish

and find the missing term of the second pair.

@) TBR

\@@T L iver
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